

AN ESTIMATION OF THE V-CONJUGATION OPERATOR

SAMRA SADIKOVIĆ^{1*}

ABSTRACT. In this work we prove a new estimation of the V-conjugation operator, which connects it with the difference of the mean values of function $f \in L^1(G)$.

1. INTRODUCTION AND PRELIMINARIES

The V-conjugate function was studied in the works of P. Simon [2], [4] and [3]. In [[2], Theorem 4] it has been proved that the V-conjugation operator is of type (H^1, L^1) . The question on whether $\|\tilde{f}\|_{L^1}$ provides a new norm on H^1 was also mentioned in [2]. In [5] it was proved that on the 3-series field H^1 cannot be defined by means of the V-conjugation, i.e. the norms $\|f\|_{H^1}$ and $\|\tilde{f}\|_{L^1}$ are not equivalent in case of the 3-series field and also that the mean value of function $f \in L^1(G)$ on the coset $I_{N-1}(x)$ is dominated by either $\sigma_{M_{N-1}}$ or σ_{M_N} on some translated element. Here we prove a new estimation of the V-conjugation operator, which connects it with the difference of the mean values of function $f \in L^1(G)$.

We use standard notations and many formulae contained in [6] and [1].

Let $(m_0, m_1, \dots, m_n, \dots)$ be a bounded sequence of integers not less than 2. Put $m := \max_n m_n$.

Let $G := \prod_{n=0}^{\infty} \mathbb{Z}_{m_n}$, where $\mathbb{Z}_{m_n}$ denotes the discrete group of order m_n , with addition *mod* m_n . Each element from G can be represented as a sequence $(x_n)_n$, where $x_n \in \{0, 1, \dots, m_n - 1\}$. Addition in G is obtained coordinatewise.

The group of integers of the p-series field is similarly defined by $\prod_{n=0}^{\infty} \mathbb{Z}_p$, where $p \geq 2$ is an integer.

The topology on G is generated by the subgroups

$I_n := \{x = (x_i)_i \in G, x_i = 0 \text{ for } i < n\}$, and their translations

$I_n(y) := \{x = (x_i)_i \in G, x_i = y_i \text{ for } i < n\}$.

The basis $(e_n)_n$ is formed by elements $e_n = (\delta_{in})_i$.

Define the sequence $(M_n)_n$ as follows: $M_0 = 1$ and $M_{n+1} = m_n M_n$.

If $|I_n|$ denotes the normalized product measure of I_n then it can be easily seen that $|I_n| = M_n^{-1}$.

Date: Received: Nov 23, 2016; Accepted: Apr 4, 2017.

* Corresponding author.

2010 *Mathematics Subject Classification.* Primary 42C10.

Key words and phrases. V-conjugation operator, Vilenkin groups.

For every nonnegative integer n , there exists a unique sequence $(n_i)_i$ so that $n = \sum_{i=0}^{\infty} n_i M_i$.

The generalized Rademacher functions are defined by

$$r_n(x) := e^{\frac{2\pi i x n}{m_n}}, n \in \mathbb{N} \cup \{0\}, x \in G,$$

and the system of Vilenkin functions by

$$\psi_n(x) := \prod_{i=0}^{\infty} r^{n_i}(x), n \in \mathbb{N} \cup \{0\}, x \in G.$$

The Fourier coefficients, the partial sums of the Fourier series, the Dirichlet kernels and the Fejér means with respect to the Vilenkin system are respectively defined as follows

$$\hat{f}(n) = \int f(x) \bar{\psi}_n(x) dx, S_n f = \sum_{k=0}^{n-1} \hat{f}(k) \psi_k,$$

$$D_n = \sum_{k=0}^{n-1} \psi_k, \sigma_n f = \frac{1}{n} \sum_{k=1}^n S_k f,$$

for every $f \in L^1(G)$. It can be easily seen that

$$S_n f(y) = \int D_n(y-x) f(x) dx,$$

and

$$D_{M_n}(x) = M_n 1_{I_n}(x).$$

We introduce the maximal function $f^*(x) = \sup_n |I_n|^{-1} |\int_{I_n(x)} f(t) dt|$. Generally speaking, the Hardy space $H^p(G)$, $p > 0$ consists of integrable functions f for which $f^* \in L^p(G)$. $H^p(G)$ is a Banach space with the norm

$$\|f\|_{H^p} := \|f^*\|_p.$$

The V-conjugate function as defined in [2] has the form

$$\tilde{f} := \sum_{k=0}^{\infty} f * L_k D_{M_k},$$

where f is an integrable function and

$$L_k := - \sum_{j=1}^{\Delta_k} r_k^j + \sum_{j=\Delta_k+1}^{m_k-1} r_k^j,$$

$\Delta_k = [\frac{m_k-1}{2}]$, if $m_k > 2$, and $\Delta_k = 1$, if $m_k = 2$.

Using the expression of L_k by Simon [4], we have

a)

$$L_k(x) = 1 - \frac{1}{i} \frac{(-1)^{x_k}}{\sin \frac{\pi x_k}{m_k}} + \frac{\exp\left(-\frac{\pi x_k i}{m_k}\right)}{i} \left(\sin \frac{x_k \pi}{m_k}\right)^{-1}$$

$$(x_k \neq 0, m_k \equiv 1(2));$$

b) for $m_k \equiv 0(2)$ ($m_k > 2$) ($x_k \neq 0$) we have

$$L_k(x) = 1 + \frac{1}{i} \frac{\exp\left(-\frac{\pi x_k i}{m_k}\right) [1 - (-1)^{x_k}]}{\sin \frac{\pi x_k}{m_k}}; \quad (1.1)$$

c) in the case $m_k = 2$ we have $L_k(x) = -(-1)^{x_k}$ ($x \in G$).

For $m_k \equiv 1(2)$, $s \in \{0, 1, \dots, m_k - 1\}$ we write

$$L_k(se_k) = 1 + \frac{i(-1)^s}{\sin \frac{s\pi}{m_k}} - \frac{i \cos \frac{s\pi}{m_k} + \sin \frac{s\pi}{m_k}}{\sin \frac{s\pi}{m_k}}.$$

2. MAIN RESULTS

Theorem 2.1. *Let $G = \Pi_{n=0}^{\infty} \mathbb{Z}_{m_k}$ be a bounded Vilenkin group. Set $m = \max_k m_k$. Then there exists a constant $C > 0$, only depending on m such that*

$$M_k \int_{x+I_k} |f * L_k D_{M_k}| dx \geq C \sup_{i=1, \dots, m_k} |S_{M_{k+1}}(f) - S_{M_k}(f)|.$$

Proof. We first establish the proof for the case when m_k is odd and when the function is real.

For fixed k , let $m_k = 2N - 1$.

If $s \in \{2, \dots, m_k - 1\}$ is even, we have

$$L_k(se_k) = i \frac{1 - \cos \frac{s\pi}{2N-1}}{\sin \frac{s\pi}{2N-1}} = 2i \frac{\sin^2 \frac{s\pi}{4N-2}}{2 \sin \frac{s\pi}{4N-2} \cos \frac{s\pi}{4N-2}} = i \tan \frac{s\pi}{4N-2},$$

and clearly, $L_k(0) = 0$. If s is odd, we obtain

$$L_k(se_k) = -i \frac{1 + \cos \frac{s\pi}{2N-1}}{\sin \frac{s\pi}{2N-1}} = -2i \frac{\cos^2 \frac{s\pi}{4N-2}}{2 \sin \frac{s\pi}{4N-2} \cos \frac{s\pi}{4N-2}} = -i \cot \frac{s\pi}{4N-2}.$$

Let $\beta_s = \tan \frac{\pi s}{4N-2}$ when s is even, and $\beta_s = -\cot \frac{\pi s}{4N-2}$, when s is odd. This yields

$$\begin{aligned}
(f * L_k D_{M_k})(y) &= \int f(x)(L_k D_{M_k})(y-x)dx = M_k \int_{I_k(y)} f(x)L_k(y-x)dx = \\
&= M_k \sum_{j=0}^{m_{k-1}} \int_{(y-x) \in (s \cdot e_k + I_{k+1})} f(x)L_k(y-x)dx = \\
&= M_k \sum_{j=0}^{m_{k-1}} i\beta_s \int_{t \in (s \cdot e_k + I_{k+1})} f(y-t)dt = i \sum_{s=0}^{m_{k-1}} \beta_s a_s(y),
\end{aligned}$$

when $a_s(y) = M_k \int_{t \in (s \cdot e_k + I_{k+1})} f(y-t)dt$.

We fix $y \in G$ such that $a_{M+1}(y) - a_{M-1}(y) = \max_{i,j} |a_i(y) - a_j(y)|$, for some $M \in \{0, \dots, N-1\}$.

Suppose that $M \geq 1$, and put $a_s := a_s(y)$. Notice that if s is odd then

$$-\beta_s = \cot \frac{\pi s}{4N-2} = \tan \left(\frac{\pi}{2} - \frac{\pi s}{4N-2} \right) = \tan \left(\frac{2N-1-s}{4N-2} \pi \right) = \beta_{2N-1-s}.$$

This is clearly also valid when s is even. Therefore,

$$\sum_{s=0}^{2N-1} \beta_s a_s = \sum_{s=1}^{2N-1} \beta_s a_s = \sum_{s=1}^{2N-1} \beta_s (a_s - a_{2N-1-s}) = \sum_{s=1}^{2N-1} \beta_s (a_s - a_{-s}).$$

Then, it is easily seen that

$$\begin{aligned}
&\sum_{t \in \{\pm M\}} (f * L_k D_{M_k})(y + te_k) - \sum_{t \in \{\pm(M+2)\}} (f * L_k D_{M_k})(y + te_k) = \\
&= \sum_{i=1}^{N-1} \beta_i (a_{M+i} - a_{M-i}) + \sum_{i=1}^{N-1} \beta_i (a_{-M+i} - a_{-M-i}) - \\
&- \sum_{i=1}^{N-1} \beta_i (a_{M+2+i} - a_{M+2-i}) - \sum_{i=1}^{N-1} \beta_i (a_{-M-2+i} - a_{-M-2-i}) = \\
&= \sum_{i=1}^{N-1} \beta_i (a_{M+i} - a_{-M-i}) + \sum_{i=1}^{N-1} \beta_i (a_{-M+i} - a_{M-i}) - \\
&- \sum_{i=1}^{N-1} \beta_i (a_{M+2+i} - a_{-M-2-i}) - \sum_{i=1}^{N-1} \beta_i (a_{-M-2+i} - a_{M+2-i}) = \\
&= I + II + III + IV.
\end{aligned} \tag{2.1}$$

Furthermore,

$$\begin{aligned}
I &= \sum_{i=1}^{N-M-1} \beta_i(a_{M+i} - a_{-M-i}) + \sum_{i=N-M}^{N-1} \beta_i(a_{M+i} - a_{-M-i}) = \\
&= \sum_{i=1}^{N-M-1} \beta_i(a_{M+i} - a_{-M-i}) + \sum_{i=N-M}^{N-1} \beta_i(a_{M-2N+1+i} - a_{2N-M-1-i}) = \\
&= \sum_{i=1}^{N-M-1} \beta_i(a_{M+i} - a_{-M-i}) + \sum_{j=N-2M}^{N-M-1} \beta_{2(N-M)-1-j}(a_{-M-j} - a_{M+j}),
\end{aligned}$$

where $j = 2N - 1 - 2M - i$, with $2M \leq N$.

We put

$$L(a_M) = (f * L_k D_{M_k})(y + M e_k),$$

$$L(a_{-M}) = (f * L_k D_{M_k})(y - M e_k),$$

and we get

$$\begin{aligned}
L(a_M) + L(a_{-M}) &= \sum_{i=1}^{N-1-M} \beta_i(a_{M+i} - a_{-M-i}) + \sum_{i=N-M}^{N-1} \beta_i(a_{M+i} - a_{-M-i}) + \\
&+ \sum_{i=1}^{M-1} \beta_i(a_{-M+i} - a_{M-i}) + \sum_{i=M+1}^{N-1} \beta_i(a_{-M+i} - a_{M-i}).
\end{aligned}$$

Now,

$$\sum_{i=M+1}^{N-1} \beta_i(a_{i-M} - a_{M-i}) = \sum_{i=M+1}^{2M} \beta_i(a_{i-M} - a_{M-i}) + \sum_{i=2M+1}^{N-1} \beta_i(a_{i-M} - a_{M-i}). \quad (2.2)$$

For the first term on the right side of the equation (2.2) we put $2M - i = j$, and for the second $i - 2M = j$, so we have

$$\begin{aligned}
\sum_{i=M+1}^{N-1} \beta_i(a_{-M+i} - a_{M-i}) &= \sum_{j=0}^{M-1} \beta_{2M-j}(a_{M-j} - a_{-M+j}) + \\
&+ \sum_{j=1}^{N-1-2M} \beta_{j+2M}(a_{-M+j} - a_{-M-i}).
\end{aligned}$$

Taking substitute $M + i - 2N + 1 = -M - j$ we have $j = 2N - 1 - 2M - i$, so

$$\sum_{i=N-M}^{N-1} \beta_i(a_{M+i} - a_{M-i}) = \sum_{j=N-2M}^{N-2M-1} \beta_{2(N-M)-1-j}(a_{-M-j} - a_{M+j}).$$

Now, we have

$$\begin{aligned}
L(a_M) + L(a_{-M}) &= \sum_{i=1}^{N-1-2M} (\beta_i + \beta_{i+2M})(a_{M+i} - a_{-M-i}) + \\
&+ \sum_{i=N-2M}^{N-M-1} (\beta_i + \beta_{2(N-M)-1-i})(a_{M+i} - a_{-M-i}) + \\
&+ \sum_{i=1}^{M-1} (\beta_i + \beta_{2M-i})(a_{-M+i} - a_{M-i}),
\end{aligned}$$

and

$$\begin{aligned}
L(a_{M+2}) + L(a_{-M-2}) &= \sum_{i=1}^{N-1-2M-4} (\beta_i + \beta_{i+2M+4})(a_{M+i+1} - a_{-M-i-1}) + \\
&+ \sum_{i=1-2M-4}^{N-M-3} (\beta_i - \beta_{2(N-M-2)-1-i})(a_{M+2+i} - a_{-M-2-i}) + \\
&+ \sum_{i=1}^{M+1} (\beta_i + \beta_{2M+4-i})(a_{-M-2+i} - a_{M+2-i}).
\end{aligned}$$

If we put $i + 2 = j$, we get

$$\begin{aligned}
L(a_{M+2}) + L(a_{-M-2}) &= \sum_{j=0}^{N-2M-3} (\beta_{j-2} + \beta_{j+2+2M})(a_{M+j} - a_{-M-j}) + \\
&+ \sum_{j=N-2M-2}^{N-M-1} (\beta_{j-2} + \beta_{2(N-M)-3-j})(a_{M+j} - a_{-M-j}) + \\
&+ \sum_{j=-1}^{M-1} (\beta_{j+2} + \beta_{2M+2-j})(a_{-M+j} - a_{M-j}).
\end{aligned}$$

Formula (2.1) now becomes

$$\begin{aligned}
& (\beta_1 + \beta_{1+2M})(a_{M+1} - a_{-M-1}) + (\beta_2 + \beta_{2+2M})(a_{M+2} - a_{-M-2}) + \\
& + (\beta_{N-2-2M} + \beta_{N-2})(a_{N-2-M} - a_{-N+2+M}) + \\
& + (\beta_{N-1-2M} + \beta_{N-1})(a_{N-1-M} - a_{-N+1+M}) + \\
& + \sum_{i=3}^{N-2M-3} \underbrace{[\beta_i + \beta_{i+2M} - \beta_{i-2} - \beta_{i+2M+2}]}_{I'} (a_{M+i} - a_{-M-i}) + \\
& + \sum_{j=N-2M}^{N-M-1} \underbrace{[\beta_i - \beta_{2(N-M)-1-i} - \beta_{i-2} + \beta_{2(N-M)-3-i}]}_{II'} (a_{M+i} - a_{-M-i}) - \\
& - (\beta_{N-2M-4} - \beta_{2(N-M)-3-(N-2M-2)})(a_{-M+N-2} - a_{M-N+2}) - \\
& - (\beta_{N-2M-3} - \beta_{2(N-M)-3-(N-2M-1)})(a_{N-M-3} - a_{-N+M+3}) + \\
& + \sum_{i=3}^{M-1} \underbrace{[\beta_i + \beta_{2M-1} - \beta_{i+2} - \beta_{2M+2-i}]}_{III'} (a_{-M+i} - a_{M-i}) - \\
& - (\beta_1 - \beta_{2M+3})(a_{-M-1} - a_{M+1}) - (\beta_2 - \beta_{2M+2})(a_{-M} - a_M).
\end{aligned}$$

We estimate I'_{odd} (when i is odd)

$$\begin{aligned}
I'_{odd} &= \cot \frac{i\pi}{4N-2} - \cot \frac{(i-2)\pi}{2N-2} + \cot \left(\frac{i+2M}{2N-2}\pi \right) - \cot \left(\frac{i+2M+2}{4N-2}\pi \right) = \\
&= \frac{\sin \frac{-2\pi}{4N-2}}{\sin \left(\frac{i\pi}{4N-2} \right) \sin \left(\frac{(i-2)\pi}{4N-2} \right)} + \frac{\sin \frac{2\pi}{4N-2}}{\sin \left(\frac{i+2M}{4N-2} \right) \sin \left(\frac{i+2M+2}{4N-2}\pi \right)} < 0.
\end{aligned}$$

For i even, we get

$$\begin{aligned}
I'_{even} &= -\tan \frac{i\pi}{4N-2} + \tan \frac{(i-2)\pi}{4N-2} - \\
&- \tan \left(\frac{i+2M}{4N-2}\pi \right) + \tan \left(\frac{i+2M+2}{4N-2}\pi \right) = \\
&= \frac{\sin \frac{-2\pi}{4N-2}}{\cos \left(\frac{i\pi}{4N-2} \right) \cos \left(\frac{(i-2)\pi}{4N-2} \right)} + \\
&+ \frac{\sin \frac{2\pi}{4N-2}}{\cos \left(\frac{i+2M}{4N-2} \right) \cos \left(\frac{i+2M+2}{4N-2}\pi \right)} > 0.
\end{aligned}$$

We use the following notations:

$$< k > = \begin{cases} k, & \text{if } k \text{ is odd} \\ k-1, & \text{if } k \text{ is even} \end{cases} \quad > k < = \begin{cases} k, & \text{if } k \text{ is odd} \\ k+1, & \text{if } k \text{ is even} \end{cases}$$

$$<< k >> = \begin{cases} k, & \text{if } k \text{ is even} \\ k-1, & \text{if } k \text{ is odd} \end{cases} \quad >> k << = \begin{cases} k & \text{if } k \text{ is even} \\ k+1 & \text{if } k \text{ is odd,} \end{cases}$$

so

$$\begin{aligned} I' &> \left[\sum_{\substack{i=3 \\ (i \text{ odd})}}^{N-2M-3} (\beta_i - \beta_{i-2}) + (\beta_{i+2M} - \beta_{i+2M+2}) \right. \\ &\quad + \sum_{\substack{i=4 \\ (i \text{ even})}}^{N-2M-3} (\beta_{i-2} - \beta_i + \beta_{i+2M+2} - \beta_{i+2M}) \left. \right] \\ &\quad \cdot (a_{M+1} - a_{-M-1}) \\ &= [(-\beta_1 + \beta_{<N-2M-3>} + \beta_{3+2M} - \beta_{<N-1>}) \\ &\quad + (\beta_2 + \beta_{<<N-2M-3>>} + \beta_{4+2M} - \beta_{<<N-1>>})] \\ &\quad \cdot (a_{M+1} - a_{-M-1}). \end{aligned}$$

As $\beta_{<N-2M-3>} > \beta_{>N-2M-2<}$ we have

$$\beta_{<N-2M-3>} - \beta_{>N-2M-2<} > 0.$$

Now we estimate II' when i is odd.

$$\begin{aligned} II'_{\text{odd}} &= \cot \frac{i\pi}{4N-2} - \cot \frac{(i-2)\pi}{4N-2} + \tan \left(\frac{2(N-M)-1-i}{4N-2} \pi \right) - \\ &\quad - \tan \left(\frac{2(N-M)-3-i}{4N-2} \pi \right) = \\ &= \frac{\sin \frac{-2\pi}{4N-2}}{\sin \frac{i\pi}{4N-2} \sin \frac{i-2}{4N-2} \pi} + \\ &\quad + \frac{\sin \frac{2\pi}{4N-2}}{\cos \frac{2(N-M)-i-1}{4N-2} \pi \cdot \cos \frac{2(N-M-3-i)}{4N-2} \pi} < 0. \end{aligned}$$

For i even, we have

$$\begin{aligned}
II'_{even} &= -\tan \frac{i\pi}{4N-2} + \tan \frac{(i-2)\pi}{4N-2} - \cot \left(\frac{2(N-M)-1-i}{4N-2} \pi \right) + \\
&+ \cot \left(\frac{2(N-M)-3-i}{4N-2} \pi \right) = \\
&= \frac{\sin \frac{-2\pi}{4N-2}}{\cos \frac{i\pi}{4N-2} \cos \frac{(i-2)\pi}{4N-2}} + \\
&+ \frac{\sin \frac{2\pi}{4N-2}}{\sin \frac{2(N-M)-i-1}{4N-2} \pi \cos \frac{2(N-M)-3-i}{4N-2} \pi} > 0.
\end{aligned}$$

So,

$$\begin{aligned}
II' &> \left[\sum_{\substack{i=N-2M \\ (i \text{ odd})}}^{N-M-1} ((-\beta_{i-2} + \beta_i) + (\beta_{2(N-M)-3-i} - \beta_{2(N-M)-1-i})) + \right. \\
&+ \left. \sum_{\substack{i=N-2M \\ (i \text{ even})}}^{N-M-1} (\beta_{i-2} - \beta_i - \beta_{2(N-M)-3-i} + \beta_{2(N-M)-1-i}) \right] (a_{M+1} - a_{-M-1}) = \\
&= -\beta_{>N-2M-2<} + \beta_{<N-M-1>} + \beta_{>>N-M-2<<} - \beta_{<<N-1>>} \\
&+ \beta_{>>N-2M-2<<} - \beta_{<<N-M-1>>} - \beta_{>N-M-2<} + \beta_{<N-1>} \\
&= \beta_{<N-2M-1>}.
\end{aligned}$$

We estimate III' for i odd,

$$\begin{aligned}
&\cot \frac{i\pi}{4N-2} - \cot \frac{i+2}{4N-2} \pi + \cot \frac{2M+2-i}{4N-2} \pi - \cot \frac{2M-i}{4N-2} \pi = \\
&= \frac{\sin \frac{2\pi}{4N-2}}{\sin \frac{i\pi}{4N-2} \sin \left(\frac{i+2}{4N-2} \pi \right)} + \frac{\sin \frac{-2\pi}{4N-2}}{\sin \left(\frac{2M+2-i}{4N-2} \pi \right) \sin \left(\frac{2M-i}{4N-2} \pi \right)} > 0.
\end{aligned}$$

For i even, we have

$$\tan \frac{i+2}{4N-2} \pi - \tan \frac{i\pi}{4N-2} \pi + \tan \frac{2M-i}{4N-2} \pi - \tan \frac{2M+2-i}{4N-2} \pi =$$

$$\begin{aligned}
& \frac{\sin \frac{2\pi}{4N-2}}{\cos \frac{i\pi}{4N-2} \cos \left(\frac{i+2}{4N-2} \pi \right)} + \frac{\sin \frac{-2\pi}{4N-2}}{\cos \left(\frac{2M-i}{4N-2} \pi \right) \cos \left(\frac{2M+2-i}{4N-2} \pi \right)} < 0. \\
\\
III' & > \left[\sum_{\substack{i=1 \\ (i \text{ odd})}}^{M-1} (-\beta_i + \beta_{i+2} - \beta_{2M+2-i}) + \sum_{\substack{i=2 \\ (i \text{ even})}}^{M-1} (\beta_i - \beta_{i+2} - \beta_{2M-i} + \beta_{2M+2-i}) \right] \cdot \\
& \cdot (a_{M+1} - a_{-M-1}) = \\
& [-\beta_1 + \beta_{<M+1>} + \beta_{>M+1<} - \beta_{2M+1} + \beta_2 - \beta_{<<M+1>>} - \beta_{>>M+1<<} + \beta_{2M}] \cdot \\
& \cdot (a_{M+1} - a_{-M-1}) > -\beta_1 - \beta_{>>N+1<<}.
\end{aligned}$$

So, we get

$$\begin{aligned}
I' + II' + III' & > 2\beta_1 + \beta_{1+2M} + \beta_{3+2M} + 2\beta_2 + 2\beta_{2+2M} - \beta_{<N-1>} + \beta_{>>N-2<<} \\
& - \beta_1 + \beta_{<N-2M-3>} + \beta_{3+2M} + 2\beta_2 - \beta_{<<N-2M-3>>} - \beta_{4+2M} \\
& - \beta_1 - \beta_{>>M+1<<} = \\
& = \beta_{2+2M} - \beta_{4+2M} + \beta_{3+2M} - \beta_{<N-1>} + \beta_{3+2M} + \beta_{>>N-2<<} + \\
& + \beta_2 - \beta_{<<N-2M-3>>} + \beta_2 - \beta_{>>N+1<<} + \beta_{<N-2M-3>} + \\
& + \beta_{2+2M} + \beta_{1+2M} + 2\beta_2 > \beta_{1+2M} + 2\beta_2 = \\
& = \cot \frac{1+2M}{4N-2} \pi - 2 \tan \frac{2\pi}{4N-2} \\
& = \frac{\cos \left(\frac{1+2M}{4N-2} \pi \right) \cos \left(\frac{2\pi}{4N-2} \right) - 2 \sin \frac{1+2M}{4N-2} \sin \frac{2\pi}{4N-2}}{\sin \frac{1+2M}{4N-2} \pi \cdot \cos \frac{2\pi}{4N-2}} \\
& = \frac{\cos \left(\frac{3+2M}{4N-2} \right) \pi - \sin \frac{1+2M}{4N-2} \sin \frac{2\pi}{4N-2}}{\sin \frac{1+2M}{4N-2} \pi \cdot \cos \frac{2\pi}{4N-2}} \\
& > \frac{\cos \left(\frac{3+2M}{4N-2} \right) \pi - \sin \frac{2\pi}{4N-2}}{\sin \frac{1+2M}{4N-2} \pi \cdot \cos \frac{2\pi}{4N-2}} \\
& = \frac{\sin \left(\frac{2N-1-3-2M}{4N-2} \right) \pi - \sin \frac{2\pi}{4N-2}}{\sin \frac{1+2M}{4N-2} \pi \cdot \cos \frac{2\pi}{4N-2}} \\
& > C,
\end{aligned}$$

if $2(N - M) - 4 \geq 3 \Leftrightarrow 2(N - M) \geq 7 \Rightarrow N - M \geq 4 \Rightarrow N - 1 - M \geq 3$, valid as $2M + 3 \leq N - 1$, because $2(M + 2) \leq N - 1$.

It's not hard to show that the sum $I' + II' + III'$ is bounded from below in the cases when $2(M + 2) > N - 1 \geq 2M$, or when $2M > N - 1$.

The second part of the proof concerns $m_k = 2N$, $N \neq 1$. From the formula b) (1.1), we get $\gamma_k = L_k(se_k) = 1$, if s is even, and $\gamma_k = L_k(se_k) = -1 - 2i \cot \frac{s}{m_k} \pi$, if s is odd.

The proof can be done by the same method by taking only the complex part of $\int_{x+I_k} (L_k * f)$. Two possible situations occur. The first one is that

$$a_{M+1}(y) - a_{-M-1}(y) = \max_{i,j} |a_i(y) - a_j(y)|,$$

and the second one is

$$a_{M+1}(y) - a_{-M}(y) = \max_{i,j} |a_i(y) - a_j(y)|.$$

We first study the first case. The same method can be used as in the case when $m_k = 2N - 1$, except the part of the sum where $N - M \geq i + 2M \geq 2(N - M) - N = N - 2M$.

For such odd indices i , the factor in the sum that is multiplied by $(a_{M+i} - a_{-M-i})$ becomes

$$\begin{aligned} & \gamma_i - \gamma_{2(N-M)-i} - \gamma_{i-2} + \gamma_{2(N-M)-2-i} = \\ & \cot \frac{i\pi}{2N} - \cot \frac{(i-2)\pi}{2N} + \cot \left(\frac{2(N-M)-2-i}{2N} \pi \right) - \cot \left(\frac{2(N-M)-i}{2N} \pi \right) = \\ & \frac{\sin \frac{-2\pi}{2N}}{\sin \frac{i\pi}{2N} \sin \frac{(i-2)\pi}{2N}} + \frac{\sin \frac{2\pi}{2N}}{\sin \frac{2(N-M)-i-2}{2N} \pi \sin \frac{2(N-M)-i}{2N} \pi} < 0. \end{aligned}$$

If f is a real function, it is easily seen that the real part of

$$\sum_{t \in \{M, -M\}} (f * L_k D_{M_k})(y + te_k) - \sum_{t \in \{M+2, -M-2\}} (f * L_k D_{M_k})(y + te_k)$$

vanishes. Using the same arguments as before, we get

$$\frac{1}{2} \operatorname{Im} \left(\sum_{t \in \{M, -M\}} (f * L_k D_{M_k})(y + te_k) - \sum_{t \in \{M+2, -M-2\}} (f * L_k D_{M_k})(y + te_k) \right) =$$

$$\begin{aligned}
&= \left[\sum_{\substack{i=3 \\ (i \text{ odd})}}^{N-2M-3} \underbrace{(\gamma_i - \gamma_{i-2} + \gamma_{i+2M} - \gamma_{i+2M+2})}_{<0} + \right. \\
&+ \sum_{\substack{i=N-2M \\ (i \text{ odd})}}^{N-M-1} \underbrace{(\gamma_i - \gamma_{i-2} + \gamma_{2(N-M)-2-i} - \gamma_{2(N-M)-i})}_{<0} + \\
&+ \sum_{\substack{i=1 \\ (i \text{ odd})}}^{M-1} \underbrace{(\gamma_{i+2} - \gamma_i + \gamma_{2M-i} - \gamma_{2M-i+2})}_{<0} \left. \right] \cdot (a_{M-i} - a_{-M+i}) + \\
&+ (2\gamma_1 + \gamma_{2M+1} - \gamma_{2M+3}) \cdot (a_{M+1} - a_{-M-1}) + \\
&+ \underbrace{(\gamma_i - \gamma_{i-2} + \gamma_{i+2M} + \gamma_{2(N-M)-2-i})}_{<0, (i \geq N-2M-2)} \cdot (a_{>N-M-2<} - a_{>N-M-2<}) > \\
&> \left[\sum_{\substack{i=3 \\ (i \text{ odd})}}^{N-2M-3} \underbrace{(\gamma_i - \gamma_{i-2} + \gamma_{i+2M} - \gamma_{i+2M+2})}_{<0} + \right. \\
&+ \sum_{\substack{i=N-2M \\ (i \text{ odd})}}^{N-M-1} \underbrace{(\gamma_i - \gamma_{i-2} + \gamma_{2(N-M)-2-i} - \gamma_{2(N-M)-i})}_{<0} + \\
&+ \sum_{\substack{i=1 \\ (i \text{ odd})}}^{M-1} \underbrace{(\gamma_{i+2} - \gamma_i + \gamma_{2M-i} - \gamma_{2M-i+2})}_{<0} \left. \right] \cdot (a_{M+1} - a_{-M-1}) + \\
&+ [(2\gamma_1 + \gamma_{2M+1} - \gamma_{2M+3}) + (\gamma_{>N-2M-2<} - \gamma_{>N-2M-4<} + \gamma_{>N-2<} + \gamma_{>N-1<})] \cdot \\
&\cdot (a_{M+1} - a_{-M-1}) = -\gamma_1 + \gamma_{<N-2M-3>} + \gamma_{2M+3} - \gamma_{<N-1>} - \gamma_{>N-2M-2<} + \\
&+ \gamma_{<N-M-1>} + \gamma_{>N-M-1<} - \gamma_{<N>} - \gamma_1 + \gamma_{<M+1>} + \gamma_{<M+1>} - \gamma_{2M+1} + \\
&+ 2\gamma_1 + \gamma_{2M+1} - \gamma_{2M+3} + \gamma_{>N-2M-2<} - \gamma_{>N-2M-4<} + \\
&+ \gamma_{>N-2<} + \gamma_{>N-1<} > C,
\end{aligned}$$

because $\gamma_{>N-1<} = \gamma_{<N>}$, $\gamma_{>N-2<} = \gamma_{<N-1>}$ and $\gamma_{<N-2M-3>} = \gamma_{>N-2M-4<}$.

In the second situation, namely when

$$\max_{i,j} |a_i(y) - a_j(y)| = a_{M+1}(y) - a_{-M}(y),$$

for some $M \geq 0$, we prove the result following the steps done before. $\square$

REFERENCES

1. G. Gát, *Cesaro means of integrable functions with respect to unbounded Vilenkin systems*, J. Approx. Theory, **124** (2003), no. 1, 25-43.
2. P. Simon, *Investigations with respect to the Vilenkin system*, Ann. Univ. Sci. Budapest. Sect. Math., **27** (1982), 87-101.
3. P. Simon, *On the concept of a conjugate function*, Colloq. Math. Soc. János Bolayi, **19** (1976), 747-755.

4. P. Simon, *Verallgemeinerte Walsh-Fourierreihen II*, Acta Math. Acad. Sci. Hung. **27** (1975), 329-341.
5. S. Sadiković, *On maximal function and V-conjugation*, Facta Universitatis Ser. Math. Inform. Vol. **31**, No 5 (2016), 999-1009.
6. F. Schipp, W. R. Wade, P. Simon, J. Pal, Walsh series: An introduction to dyadic harmonic analysis, Adam Hilger, Bristol and New York, 1990.

¹ DEPARTMENT OF MATHEMATICS, UNIVERSITY OF TUZLA, UNIVERZITETSKA 4, 75000 TUZLA, BOSNIA AND HERZEGOVINA.

E-mail address: samra.sadikovic@untz.ba